
  

   

8360 

YAMAHA 
MT09/XSR900 

2013 - 2017 
Part Nr. 687 

 

 

M8 x 25 DIN7991 

between 687R and 

880 Ø20 x tl.5 

872 

880 

8900 

813LB 

between 8900 
and 872 
Ø22 x 15  

813RD 

Ø30 x tl.5 

 

Ø40 x tl.5 

 
Package 818.103mm + left 

thread rod + 2x M6 DIN934 

M8 x 30 DIN7991 

M8 x 50 DIN6921 
807 

M6 x 45 DIN7380 
817 + Ø12 x tl.20 

M6 DIN985 

 
 

M8 x 60 DIN6921 
807 

M6 x 12 DIN7991 

M8 x 20 DIN7991 

M6 x 20 DIN7380 

Ø12 x tl.3,5 
816L 

818.195mm 

810R 

M6 x 25   DIN7991 
 

829 
M6 x 30 DIN6921 

M6 DIN985 

M6 x 25 DIN7380 

816R + M6 DIN985 
 

 

Washers Ø 30, 40 add 
to left plate by tape 

Package 818.215mm marked 

„FOR YAMAHA XSR900“ 


